
 ®    
 

 

03/11
   ® 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 
*  Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – Sissy Bar w/pad 
2 – Frame Mount Bracket (Left / Right) 
2 – Sissy Bar Mount Bracket (Left / Right) 
2 – Spacer 
2 – M8 x 20mm Flathead Allen Bolt 
2 – M8 x 16mm Flathead Allen Bolt 
4 – M8 x 20mm Buttonhead Bolt w/ Lock Patch 
4 – M8 x 16mm Buttonhead Bolt 

Application(s) > 

HONDA VT1300 CR                 2010-2015 
 

Instruction Manual > 

READ ALL INSTRUCTIONS CAREFULLY AND COMPLETELY BEFORE INSTALLING YOUR NEW SISSY BAR! 

 
1. Remove the entire license plate / rear turn signal assembly by first removing the license plate. Then remove the 

(2) bolts securing the top chrome cover between the turn signals; the bolts are located on the underside of the 
bottom plastic cover. Disconnect the wire connectors for the license light, tail light and rear turnsignals Remove 
the (3) flange nuts securing the assembly to the fender subframe. Remove the assembly components leaving 
only the (3) studs exposed. 

2. Pull to remove the battery/electrical covers from the both sides of the motorcycle. 

3. Remove the seat by first removing the (1) bolt under the rear of the seat. Where the covers were removed in 
Step 2, locate and remove the (2) bolts securing the underside of the seat. Pull the seat back and up to remove. 

4. Remove the (2) plastic fasteners that secure the front end of the rear fender. NOTE: Depress the center pin on 
the fasteners to release. Carefully remove the fender. 

5. On the fender sub frame locate the threaded bungs (2 per side) and install the left and right frame mount 
brackets by inserting the (2) M8 X 20mm flathead allen bolts through the mount brackets, supplied spacers and 
into the frame in the front holes. Insert the (2) M8 x 16mm flathead allen bolts in the rear holes. Fully tighten the 
bolts. NOTE: The brackets will have an ‘L’ or ‘R’ indicating which is left and right. See Figure 1. 

6. Reinstall the fender and secure with the two fasteners removed in Step 4. NOTE: To reinstall fasteners pull the 
center pin out; insert into holes then push the pin flush. Reinstall the license plate/rear turnsignal assembly in the 
reverse order of removal. 

7. Install the sissy bar mount brackets onto the frame mount brackets using the (4) M8 x 20mm buttonhead bolts w/ 
lock patch. Do not fully tighten bolts. See Figure 1. 

8. Install the sissy bar to the sissy bar mount brackets using the (4) M8 x 16mm buttonhead bolts. Do not fully 
tighten bolts. See Figure 1. 

9. Align the sissy bar from side to side then fully tighten all remaining loose bolts. 

10. Reinstall the seat in the reverse order of removal. Reinstall the battery/electrical covers.  

 02-4636 / 02-5136 / 02-5636 

 

Page 1 of 2 

 

 

 



 ®    
 

 

03/11
   ® 

 

 Instruction Manual >  02-4636 / 02-5136 / 02-5636 Page 2 of 2 

  

DOCUMENT NO.  0018 REV. B 

 

FRAME MOUNT 
BRACKET 

(2) M8 x 16mm 
BOLTS 

SISSYBAR 
MOUNT 
BRACKET (2) M8 x 20mm 

BOLTS W/ PATCH 

M8 X 16mm 
FLATHEAD ALLEN 
BOLT 

SISSYBAR 

FIGURE 1 
LEFT SIDE SHOWN 

SUPPLIED 
SPACER 

M8 X 20mm 
FLATHEAD ALLEN 
BOLT 

 

 

 

Looking for dependable motorcycle luggage rack & support? Rely on Cobra USA for quality and long-lasting products.

https://www.motorcycleid.com/luggage-racks.html
https://www.motorcycleid.com/cobra-usa/



